WELEAER TERAYE R

e | we [PLERlgem|  sxs Fis Ay &
1 305 4% 17 2 1556202 et 132.03 _E
g 275 # 17 3 1576301 et 128.05 RE
3 275 % 17 3 1576302 Ect 135. 25 RE
4 275 # 17 4 15875401 (et 128. 47 R
5 275 17 4 15876402 = 135. 58 RE
6 275 # 17 5 1555501 fFE 128. 47 K
7 275 # 17 5 15276502 ¥ 135. 58 R
8 275 17 6 1575601 % 128. 47 K
9 275 % 17 6 1576602 R
10 275 #% 17 8 1556802 RE
11 2151k 17 14 15761401 RE
12 2751 17 14 15761402 KRE
13 | 2712 17 15 | 12381502 frg 20010 135, 5 S
14 275 # 17 16 158751602 = 135. 58 KRE
15 275 ¥ 17 3 2851301 Ect 135. 25 RE
16 2751 17 3 25870302 et 128. 05 RE
17 275 H 17 4 25870402 FE 128. 47 RE
18 2751 17 5 25275501 F= 135. 58 KRE
19 2751 17 7 2845702 2 128. 47 R

20 2751 17 9 25875902 et 128. 47 Fe
21 275 # 17 14 25761401 fFE 135. 58 KRE
22 275 # 17 15 252751501 fF= 135. 58 R
23 2T H 17 15 2ELI61502 % 128. 47 Ke
24 275 # 17 16 258751601 £ 135. 58 PN
25 295 1% 17 2 1576202 F= 132. 03 RE




26 295 # 17 3 15875302 fF= 132.03 KE
27 2951 17 4 15875402 = 132.33 KRE
28 295 # 17 17 158761701 F=E 131 *E
29 295 # 17 17 18751702 = 132. 33 RE
30 295 # 17 2 2576201 & 132. 03 R
31 2951 17 2 2576202 fEE 130. 6 KE
32 295 # 17 3 2570301 k= 132.03 KRE
33 295 1% 17 3 2575302 FE 130. 6 KE
34 2951 17 5 2575501 = 132. 33 RE
35 295 # 17 6 2570602 =z 131 KRE
36 2951 17 7 2575702 = 131 RE
37 2954 17 8 2555802 2 131 &
38 295 # 17 17 25551701 fE= 132.33 R
39 315 #% 17 2 1556201 fE 131.8 KE
40 315 17 2 15855202 FE 133. 25 RE
41 315 % 17 3 15855301 fFE 131.8 KE
42 3158 17 3 1EIE302 o fF= 133.25 RE
43 315 17 3 2550301 Ec 133. 25 FE
44 3158 17 3 2570302 £ 131.8 KRE
45 315 H# 17 5 1856501 4 fFE 132.6 RE
46 315 #% 17 5 2570501 FE 133. 81 PN
47 315 17 5 2570502 fF= 132.6 KRE
48 315 % 17 6 157601 F= 132.6 KE
49 315 # 17 7 18T701 8 132.6 KE
50 315 17 7 1BA5E702 & FE 133. 81 RE
51 31E#E 17 7 2571702 e 132.6 Fe
52 315 # 17 8 25871802 F=E 132.6 KE




53 315 17 9 25251902 fE= 132.6 K
54 315 17 10 25761002 fFE 132.6 RE
55 315 17 11 28701102 FE 132.6 RE
56 31 FHE 17 12 15781202 fFE 133.81 RE
57 315 17 12 25701202 = 132.6 KRE
58 3154 17 13 252701301 fE= 133. 81 KE
59 315 17 13 25711302 e 132.6 KE
60 315 # 17 14 2ELI615A02 fFE 132.6 K&
61 315# 17 15 15751502 o 5 133.81 RE
62 315 17 15 252761501 = 133. 81 RE
63 315H# 17 15 258761502 fFE 132.6 K
64 315 17 16 25761601 = 133. 81 RE
65 315 17 16 252501602 (e 132.6 KRE
66 | 315 17 17 25761701 FE 133. 81 RE
67 315 17 17 28761702 % 132.6 KE
68 315 17 4 1575402 = 133. 81 K
69 315 17 8 1578802 , FE 133.81 RE
70 315 17 4 2575402 fFE 132.6 RE
71 315 17 6 2571601 FE 133. 81 KE
AN 9409. 07
72 275 # 17 -1 9 LL{{IE 6. 51 RE
73 2751 17 -1 17 = 6. 58 K
74 2757 17 -1 5 WTFE 7.72 RE
75 275 #% 17 -1 4 WR=E 7.72 KE
76 275 #% 17 =1 20 R E 7.81 RE
77 2751 17 -1 3 HF=E 8.11 PN
78 2751 17 -1 7 HTE 9.75 KE




79 275 # 17 -1 13 HTE 10. 63 RE
80 275 % i -1 1 WFE 11.35 KE
81 275 17 -1 16 R E 7.09 KE
82 275 # 17 =] 52 W= 7.25 KRE
83 275 % 17 -1 15 = 6. 88 K
84 2751 17 -1 8 R E 6. 06 KE
85 275 17 ] 41 WR=E 6. 81 KRE
86 275 # 17 -1 34 T E 6. 51 RE
87 275 ¥ 17 -1 22 HWR=E 7.41 K
88 2751 17 ~ 40 WTF=E 8.11 K
89 275 # 17 -1 36 FE 9.75 R
90 2757 17 -1 30 HWR=E 10. 63 R
91 275 ¥ 17 =1 47 R E 7.21 KRE
92 275 # 17 -1 24 WR=E 6. 85 RE
93 2751 17 = | 26 WTF=E 6. 58 KRE
94 275 ¥ 17 =] 35 = 6. 06 R
95 295 # 17 ~] 38 HWF=E 12. 76 K&
96 2951 17 -1 02 R E 6. 22 RE
97 2951 17 -1 05 W= 11.61 R
98 2951 17 -1 44 MR E 5. 22 KE
99 295 # 17 =, 47 WTRE 12. 61 RE
100 2951 17 -1 48 R E 12.76 KE
101 295 1% 17 -1 43 WR=E 5. 41 FiE
102 295 ¥ 17 <] 19 MR E 8.48 RE
103 295 1% 17 =] 22 W= 13.54 KRE
104 2951 17 ~] 24 HTFE 9.19 R
105 295 # 17 -1 26 R 13.78 Fets




106 315 17 ~1 1 HF=E 10. 49 RE
107 315 17 -1 2 T E 6. 25 RE
108 315 % 17 -1 6 WRE 10. 21 KRE
109 315 % 17 =1 8 T E 9.57 KRE
110 315 #% 17 -1 9 WF=E 9. 57 R
111 315 17 -1 19 WF=E 8. 52 RE
112 315 17 -1 47 R E 12. 66 KRE
113 315 % 17 -1 49 WT=E 12. 81 KRE
114 315 17 -1 20 WR=E 8. 52 KE
115 315 % 17 ~1 21 WF=E 8. 52 R
116 315 17 ~] 92 R E 12. 22 RE
117 315 17 ~1 23 HhF=E 13. 59 K
118 3154 17 -1 27 T E 13.81 RE
119 15 17 =] 29 M= 8.55 K
120 31ETHE 17 -1 31 HWTFE 9.57 K
121 315 17 -1 33 F=E 11.66 R
122 315 17 -1 35 TR E 6. 45 RE
123 315 #E 17 -1 37 = 6. 25 KE
124 315 HE 17 -1 38 T E 10. 49 e
125 315 17 -1 39 R E 12. 81 K
126 315 17 =1 40 WR=E 12. 66 R
127 | 818 17 | -1 41 R E 12. 66 Kt
128 315 17 -1 42 HWTE 12. 81 Fts
129 3LEHE 17 =] 43 MW= 7.91 KRE
130 315 17 =] 15 R E 9.23 FetE
131 315 HE 17 -1 11 HFE 13.83 Fi
132 315 # 17 -1 24 = 9.23 FAE




At

571. 81
133 315 # 17 12 R 30. 37 e
134 3154 17 14 P 26. 72 KRE
135 315 17 15 R 30. 37 R
Nt 87. 46

At 10068. 34
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